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#include<iostream>
#include<cstdio>
#include<algorithm>
#include<cctype>
#include<cstring>
#define 11 long long
using namespace std;

inline int read
int k=0, f=1;char c=getchar();

lisdigit(c c=='-"') f=-1;c=getchar();
isdigit(c k=k*10+c-'0"',c=getchar(); f*k;

const int N=100055;

int root[N!,lch[N*91],rchIN*91],sum[N*91],cnt;
int n,m,pos/N/J;

11 anss;

void add(int &k,int 1,int r,int x

lk) k=++cnt;sum|[Kk]|++;
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l==r ;
int mid=1+r>>1;
x<=mid) add(lch[k],1l,mid,x);
add(rch[k],mid+1,r,x);

void del(int k,int 1,int r,int x

Ik o
suml/kl--;
l==r ;
int mid=l+r>>1;
x<=mid) del(lch[k],1,mid,x);
del(rch[k],mid+1,r,x);

int query(int k,int 1,int r,int a,int b

Ik ;
a<=L&8&b>=r sumlkl;
int mid=1+r>>1,ans=0;
a<=mid) ans+=query(lchlk],1,mid,a,b);
b>mid) ans+=query(rchlk],mid+1,r,a,b);
ans;

int main

n=read();m=read();
int i=1;i<=n;i++

int a=read();pos|al=1i;

int j=i;j<=n;j+=j&-j
add(root!j!,1,n,a);

int j=1;j;3-=j&-]
anss+=query(root/j|,1,n,a+1l,n);

int i=1;i<=m;i++
printf("slLld\n",anss);
int a=read();
al=n
int j=posial;j;j-=j&-j) anss-=query(root(j!,1,n,a+l,n);

al=

int j=n;j;j-=j&-j) anss-=query(root|[j!,1l,n,1,a-1);
int j=posial-1;j;j-=j&-j) anss+=query(root(j|,1,n,1l,a-1);
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int j=poslal;j<=n;j+=j&-]

0;
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del(root/j!,1,n,a);
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#include<iostream>
#include<cstdio>
#include<algorithm>
#include<cstring>
#include<cctype>
using namespace std;

inline int read

int k=0, f=1;char c=getchar();
lisdigit(c c=="-"

const int N=100005,inf=2147483647;

struct T

int ch[2],fa,size,cnt,v;
tr[N*200];
int tot,rt[N*20]1,n,m,al[N];

#define 1(x) tr[x].ch[0]

f=-1;c=getchar();
isdigit(c)) k=k*10+c-'0',c=getchar

; ks
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trix].size=tr[l(x)].size+tr[r(x)].size+tr(x].cnt;

void rotate(int x

int y=tr[x].fa,z=tr[y].fa,k=tr[yl.ch ==X
triz].ch[tr[z].ch ==y |=x;tr[x]|.fa=z;
triyl.chl{kl=trix].ch[k™*1];tr[tr(x].ch[k" .fa=y;
trly].fa=x;tr[x].ch[k™1l]=y;

puty);puix);

void splay(int x,int r,int pos
tr{x].fal=pos
int y=tr(x].fa,z=trl(y].fa;
z!=pos) (liz)==y)~(l(y)==x)7rotate(x) :rotately);

rotate(x);

I'pos) rtir|=x;

void ins(int x,int r

int u=rtlr],f=0;
lu

tr++tot].v=x;tr[tot]|.size=tr[tot!.cnt=1;rt[ri=tot; ;

u&&triul.vl=x) f=u,u=trlul.chitrful.v<x];
u) {trlul.cnt++;trlul.size++;splay(u,r,0); ;
u=++tot;
triul.fa=f; f) trifl.chltr[f].v<x]|=u;
tr{u].v=x;tr{ul.size=tr[u].cnt=1;splay(u,r,0);

void find(int x,int r
int u=rtir];
triul.v!=x&&triul.chltriul.v<x

u=trlul.ch[triul.v<x];
splay(u,r,0);

int find max(int x
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int lxt(int x,int r

int u=rtir],ans=-inf;
u

triul.v<x) ans=max(ans,trlu
u=l(u);

ans;

int rxt(int x,int r

int u=rtl[r],ans=inf;
u

x<trlul.v) ans=min(ans,trlu
u=r(u);

ans;

void replace(int x,int y,int r

find(x,r);
int u=rtir];
triul.cnt> triul.size--,trlu
Itrful.ch rtiri=r(u),t
Itrful.ch rtirl=l(u),t

splay(find max(l(u)),rtlrl,u);
tritrlul.ch .ch =trfu]l.ch
trir(u)].fa=l(u);tr[l(u)].fa=
rtir/=U(u);pulliu));

ins(y,r);

int ran(int x,int r

int u=rtir],ans=0;
u

triul.v>x) u=l(u);
triul.v<x) ans+=tr[1l(u
ans+=tr[l(u)].size;

.V),u=r(u);

.v),u=l(u);

.cnt--;
rir(u)l.fa=
ril(u)l.fa=

.
’

.Size+trlu
ans;

.
’

’

.cnt,u=r(u

’
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ans;

#define lson k<<1,1,mid
#define rson k<<l|1,mid+1,r
void build(int k,int 1,int r

int i=1;i<=r;i++) ins(alil,k);
l==r ;

int mid=l+r>>1;

build(1lson) ;build(rson);

int soll(int k,int 1,int r,int a,int b,int x
a<=1&8b>=r
ran(x,k);
int mid=1+r>>1,ans=0;
a<=mid) ans+=soll(lson,a,b,x);

b>mid ans+=soll(rson,a,b,x);
ans;

int sol2(int 1,int r,int k

int L=0,R=1e8;
R>L

int mid=L+R>>1;
soll(1,1,n,l,r,mid)<k) L=mid+1;
R=mid;

L-1;

void sol3(int k,int 1,int r,int c,int x

replacelalc!,x,k);
== alcl=x; ;
int mid=l+r>>1;
c<=mid) sol3(lson,c,X);
sol3(rson,c,x);

int sol4(int k,int 1,int r,int a,int b,int x
a<=1&8b>=r Ixt(x,k);

int mid=1+r>>1,ans=-inf;
a<=mid) ans=max(ans,sol4(1lson,a,b,x));
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b>mid) ans=max(ans,sol4(rson,a,b,x));
ans;

int sol5(int k,int 1,int r,int a,int b,int Xx
a<=1&&b>=r
rxt(x,k);

int mid=1+r>>1,ans=inf;
a<=mid) ans=min(ans,sol5(1lson,a,b,x));
b>mid) ans=min(ans,sol5(rson,a,b,x));
ans;

int main

int opt,b,c,d;
n=read();m=read();

int i=1;i<=n;i++) alil=read();
build(1,1,n);

int i=1;i<=m;i++

opt=read();b=read();c=read(); opt!=3) d=read();
opt== printf("%sd\n",soll(1,1,n,b,c,d)+1);
opt==2) printf("%d\n",sol2(b,c,d));
opt==3) sol3(1,1,n,b,c);
opt==4) printf("%d\n",sol4(1,1,n,b,c,d));
printf("%d\n",sol5(1,1,n,b,c,d));
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#include<bits/stdc++.h>

using namespace std;

#define mem(a,b) memset(a,b,sizeof(a))
typedef long long LL;

typedef pair<int,int> PII;

#define X first

#define Y second

inline int read

int x=0,f=1;char c=getchar();

lisdigit(c c=='-"')f=-1;c=getchar();
isdigit(c)){x=x*10+c-'0"';c=getchar();
x*f;

const int maxn= ,maxnode= ;

int T,tp,n,tot,lc/maxnode], rcimaxnodel,ql,qr,v,rtimaxn<<3]|;;
LL addv/maxnodel, sumv|maxnode];
void add(int& o,int L,int R

lo)o=++tot;
gl<=L && R<=qr){sumv/o/+=(R-L+1);addv/o]|++; ;
int mid=L+R>>1;
gl<=mid)add(lclo],L,mid);
gr>mid)add(rclo],mid+1,R);
sumv/o|=sumv|lclo] +sumv|rclo] |+addv o] *(R-L+1);

LL query(int o,int L,int R,LL Add
o

int 1=max(L,ql),r= min(R,qr);

Add*(r-1+1);
gl<=L && R<=qr sumv|o|+Add*(R-L+1);
int mid=L+R>>1;

LL ans=0;
gl<=mid)ans+=query(lclo],L,mid,Add+addv o] );
gr>mid)ans+=query(rclol,mid+1,R,Add+addv/o] );

ans;
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void update

int o=1,L=1,R=n<< ;
L<R

add(rtlol,1,n);
int mid=L+R>>1,lo=0<<1,ro=10|
v<=mid)R=mid, o0=10;
L=mid+1,0=ro;

’

add(rtiol,1,n);
int query

int o=1,L=1,R=n<<1|1;
L<R

int mid=L+R>>1,lo=0<<1,ro=10|
LL res=query(rtirol/,1,n,0);
v<=res)L=mid+1,0=ro;
R=mid,o=10,v-=res;

’

L;
int main

n=read();T=read();
T--

tp=read();ql=read();qr=read();v=read();
tp==1)v+=n+1,update();
tp==2)printf("%d\n",query()-n-1);
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#include<iostream>
#include<cstdio>
#include<cstring>
#include<algorithm>
#define REP(i,n) for (int i
#define lbt(x) (x & -x)
using namespace std;
const int maxn = 10005, maxm
inline int read

int out = 0,flag = 1; char ¢ = getchar();

1; 1 <= (n); i++)

10000005, INF = 1000000000;

c <48 || ¢ > 57 c == "'-") flag = -1; c = getchar();

Cc >= 48 && ¢ <= 57 out = (out << 3) + (out << 1) + c - '0"; c
= getchar();

out * flag;

int rtimaxn!,Almaxn!,B[2 * maxn!,n,m,tot = 1,siz,N;
int sum[maxm],ls[maxm!,rsimaxm]|,al2][20];
struct Que{int opt,1,r,k; Q[maxn];
int getn(int x
int 1 = 1,r = tot,mid;
1l <=r
mid = 1 + r >> 1;
Bimid] < x) 1 = mid + 1;
r=mid - 1;

1;

void update(int& u,int 1,int r,int pos,int v
'u) u = ++siz; sumiul += v;
1l==1r ;
int mid = 1T + r >> 1;
mid >= pos) update(ls|ul,l,mid,pos,v);
update(rsiul,mid + 1,r,pos,v);

int query(int 1,int r,int k
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1 ==r 1;
intmid =1+ r > 1,t = 0;
int i =1; 1<=a ; i++) t += sum|ls/a i ;
inti=1; 1i<=a ; 1+4+) t -= sum[ls|a i ;
t >= Kk
int i =1; i <= a ;o i++) a il = 1s|a ill;
inti=1; 1<=a ;o i++) a il = ls|a ill;
query(l,mid, k) ;
inti=1; i<=a ;o i++) a il = rsla ill;
int i =1; 1 <= a ;o i++) a il = rsla ill;
query(mid + 1,r,k - t);
void add(int u,int x,int v u <= n) update(rtiul,1,tot,x,v),u +=
lbt(u);
int solve(int 1,int r,int k
a = a = 0;
int i = r; i; i -= 1lbt(i a ++a =rt[il;
inti=1-1; i; 1 -= lbt(1i a ++a = rt[i];
query(1,tot,k);
int main
n=read(); m = read(); char c;
REP(i,n) A[i] = B[++N]| = read();
REP(i,m
c = getchar(); c !'='Q" & c !'= 'C') ¢ = getchar();
c == '0Q"') Q[i].opt = 0,Q[i].1 = read(),Q[i].r = read(),Q[i].k =
read();
Qlif.opt = 1,Q[i!.1 = read(),Q[i].k = B[++N| = read();
sort(B + 1,B + + N);
int i = 2; i <= N; i++ Bli] != B[tot B/++tot] = B[i];
REP(i,n) Ali] = getn(Ali]),add(i,Ali],1);
REP(i,m

1Q[i].opt) printf("%sd\n",B[solve(Q[i].l,Q[i].r,Q[i].k ;
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